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The beaker holds 125 ml less water than the bucket.
How can we find out the volume of water in the bucket?
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What do we know already?
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What opepation will we need to do? @
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The bucket holds ml of water.
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Another example: Watch "video 2’
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89 ' The bucket holds 250ml more water than
g the beaker. What is the volume of the

vl bucket?
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E How would we solve this problem?
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What do we already know?
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Guided Practice

Solve.

(@) Acan holds 135 ml less water than the bottle.

Find the volume of water in the can.
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Guided Practice

Solve.

[=_ ]
(@ Acan holds 135 ml less water than the bottle.
Find the volume of water in the can. ‘

450 ml

Bottle

Can 135 ml

?
450 ml - 135 ml = 315 ml.

The volume of water in the can is 315 ml.
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Solve.
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4 (b) The bottle holds 225 ml less water than a bucket.
8 Find the volume of water in the bucket.
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Solve.
i

(b) The bottle holds 225 ml less water than a bucket.
Find the volume of water in the bucket.

?
g i Bucket
5 Bottle] [225ml
3 / Y 7 7 P
5 450 ml + 225 ml = 675 mL.
The volume of water in the bucket is 675 ml.
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Solving Word Problems
Solve.

A large bottle contains 650 ml of water.
The large bottle contains 435 ml more water than a small bottle.
What is the volume of water in the small bottle?

R

The beaker on the right contains 695 ml less water than a jug.
What is the volume of water in the jug?
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o The volume of water in a bucket is 9 L. ‘ k
: The bucket contains 36 | less water than a tank.

What is the volume of water in the tank?

You can download this
off the virtual school.
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